Calcular Porcientos (B)

Calcule el porciento o valor que se pide.

. ({Qué porciento de $6,244 es
$1,561?

. .Qué porciento de $3,310 es
$331?

- :Qué porciento de $9,396 es
$2,349?

. ;Qué porciento de $7,510 es
$1,502?

- ¢Qué porciento de $360 es $18?

10.

. ;(Qué porciento de $3,452 es

$1,7267

;Qué porciento de $520 es $26?

;Qué porciento de $4,356 es
$3,267?

;Qué porciento de $1,692 es
$1,128?

.Qué porciento de $1,224 es
$3067?
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Calcular Porcientos (B) Respuestas

Calcule el porciento o valor que se pide.

. ({Qué porciento de $6,244 es
$1,561?
25%

. .Qué porciento de $3,310 es
$331?
10%

- :Qué porciento de $9,396 es
$2,349?
25%

. ;Qué porciento de $7,510 es
$1,502?
20%

- ¢Qué porciento de $360 es $18?

5%

. ;(Qué porciento de $3,452 es

$1,726?
50%

. .Qué porciento de $520 es $26?

5%

. ;.Qué porciento de $4,356 es

$3,2677
75%

- ;Qué porciento de $1,692 es

$1,128?
66%3%

. ;Qué porciento de $1,224 es

$306?
25%

MatesLibres.Com




